
Question 69428 – Physics/Mechanics/Relativity 

Ball A rolled in a straight line with speed 5m/s towards bigger ball B lying 20m away.after collision 

A retraces &reaches starting point with 4m/s. What is the average velocity of ball A during time 0 

to 6 sec. 

Answer: 

The average velocity can be expressed as a relation between the whole way and the total time 

required for that way: 

𝑣𝑎𝑣 =
𝑆𝑡𝑜𝑡

𝑡𝑡𝑜𝑡
 

The total time is 6 sec and the total way must be calculated: 

𝑡𝐴𝐵 =
𝑆𝐴𝐵

𝑣𝐴𝐵
=

20𝑚

5𝑚/𝑠
= 4𝑠𝑒𝑐 

Thus, the rest 2 sec the ball will travel from B to some point C in between B and A: 

𝑆𝐵𝐶 = 𝑡𝐵𝐶 ∙ 𝑣𝐵𝐶 = 2𝑠𝑒𝑐 ∙ 4𝑚/𝑠 = 8𝑚 

The total way for the first 6 sec will be 28 meters: 

𝑣𝑎𝑣 =
𝑆𝑡𝑜𝑡

𝑡𝑡𝑜𝑡
=

28𝑚

6𝑠𝑒𝑐
= 4.67 𝑚/𝑠 
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